[N of reco track vs normalized x2 ]

N of associated (recoToSim) tracks vs normalized X?

trye tracks

=
o
S

[fake tracks

N of associated (recoToSim) looper tracks vs normalized x*

duplicate tracks

1072

C() 2 4 6 8 10 12 14 16 18 20
track x?

107
o N pe]
3 | [ L E 2 E s
14 L L EHE s 1 E o
BT T TR TR T T bl T CERRERERGNNENRRCNERG = 11T TTIRTETT - S T
0“()2433]01214]0]820 0'12463101211101820 0'“(J24 0 12 14 16 18 20
track x2 track x2 track x2
—_— I ] 0 mKkFitI0000__RECO
N of reco track vs. DQM_V0001_R00000000. lobal—_mkFit1000_"RECO
(%] 12}
x X
S S
g ]
210° 2
= &

=
o
S

10




	Contents
	Page 1


